[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |

— 0.5¢ . - - ~ 0.01¢ T T H = 1]
@ E : : : 4 F : : : 4 :
20.45:— ‘0_9.009:— o
© E o] E © .
E, 0.45— ?.0085— § 0.8
R B RTRTE RIS ®.007F 2 :
E e E o :
0.3F - rmmm i 9.006F 0.6
E S E :
0.25F - 4f[ RECARARRARRREE e LU0 o :
0.2 e Y0 SR S SR — 04 n At ;
TN T OO < S SO 0,003 L | 5
0.E- I+ ----------- ----------- 0.002;— O.2*—-“- " -----------
0.0+t f oo feffreeeeeeos e 0.001F : : :
o : : : I . <
o : : : o [ : : : @ o 1 :
B o o e A e e LR TR TP 0_5__ __________ . e e 1l + -4 R LR
0.95 0.95

] ; ; ; ok H H ; H
1072 10t 1 10 0? 1072 10 1 10 0? 1072 10t 1 10 0?
track ref. point r (cn%) track ref. point r (cml) track ref. point r (cml)

—— DQM_V0001_R000000001__Global _mkFit_batch

Fake rate vs | ——— DQM_V0001_R000000001__Global__mkFit_NObatch

~ 05 : , , , , ~ 0.0%
. . . . . [

2 3 : : : : : 3 z
OABE e e A o
1T T TSP TS0 RIS SIS Y010 ST T SO NS S ST g
A L T g E g
S0.35F -+t CRRRRRES ARRRPRE CRPPRPRESPPPRPS 01y SRPRCTRPRE ST TSP NP S [
E : : : : : Q F a
0.3Feereeeees bee]ee ITRPREE RTTTRPE PPRRR B.00BF -+ +ch-eeecheeee e e
(17 SR SRS S (O ST ST S 0T/ SO SOR SRS SIS S
S0 (RTINS SRS 0.004f -+ hereseesbesse e
015+ +reeeeees S| B KA EER SRR 0003+ sheeeresbiensnessieee D
00 SRR S 2R S 0.002F
0.05f++++-k+exeees R RE |1 ERPERRRER e 0.001

Ratio
Ratio

30 =20 =10 0 10 20 30 B —=0"=i0 0 10 20 30 0¥ —=39 =100 0 10 20 30

track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

[ Fakeratevs.simPVz | [ Duplicates Rate vs sim PV 7 | [Pileup rate vs. sim PV z |
0.8

D.003F------ RN b e
E : : : : : 0.2
L A R T
0.001F------+------ b CRRRPR R PR EERRT

q_._ a— _!_ e _!_ AT Rvs)

0.15
0.1

0.05 L

N 05 F——m—m——————————————— ~ 0.0 " " " " " N
> - > E : : : : : >
8.0.45F S SR IS LU SO S SR SR S A 07
e e T L A S S S S 5 o6
20.35F- 7 S R R 2~
Q E oo Q E : : : : : L o5
© 03kt dindibde 008 e b g 0
e E - 0 E : : : : : =%
0.25F bbb R S 2 04
0.2F- T N O 1] SRS SRS SO AR RS S 5 3
E > : : : : : N

Ratio
Ratio
Ratio

B
T

S3 T LTS U RS Y SESS SORNE SN SRS USSR SRS M TS T 1 L1 L1 TS M

08 6 -4 -2 0 2 4 6 8 10 %60 =40 —20 0 20 40 60 P08 6 420 2 4 6 8 10
Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)

o

©

]
™



	Contents
	Page 1


